6.3 More Modeling with Equations PRACTICE

Directions: Circle the equation that best fits the given situation. Then SOLVE the equation.
1) Adding 1 to twﬁ_e_the@m of a number and é)is —19. 2) Twice the sum of a number and nine times that number
What’s the number? is 100. What’s the number?

a.2n+8+1=-19 c.2(n+84+1)=-19 a. 2n+9n =100 c. 2(n+9n) = 100

2 +8)+1=-19 d. 2n4+ (8+1)=-19 |b. 2n+ (9 +n) =100 d. 2(n + 9n = 100)
21 ¢IG ¢ = 19 - 2(lon)) =100
Solution:
Solution: 2n+ l;’ = 'ﬁ _ . '8 20 = 0
Zn = -3 n= n=5
3) Mr. Bean sells a can of his beans half-off. The cost of the 4) sully sells his shirts after adding 34ofthe pries andlan
. . 4

beans after the discount is $4. How much are the beans additional 2 dollars for shipping. If you ordered a shirt and it cost
normally? you 42 dollars including shipping, how much did it cost Sully?

1 1
a.c+ 56_4 C. S¢—¢ 4 (@2 c. is—s+2=4-2
<@' y d. %(C)=4 b.s— >s+2 =42 d  S(s)+2=42
~AC= S =¥2
Solution: 2 1 S+2
C_ :% Solution: i S - L,O

¢ 58 =[O ]

Directions: For each situation make an equation, define your variables and solve your equation.
5) The sum of three consecutive integers is —39. Find the three integers.

N+ N+l+ A42 =-39 n = -4
Equation: Answer:
qua’ (15t | 3—_.‘30\ narc -\3
Let w= w nY. A niwz YL
nal = SV\* . 2 n = —‘-{2.
nez =37 Ink.
6) Mr. Brust takes a lot of naps during the summer. Last summer, Brust took 76, which is % times more than the previous
summer. How many naps did Brust take that previous summer? 3= i N = ‘_',,,(, -3

Equation: N = ¥ NAPS Peeviows summer e %f[q N=213
Ly =36 't
N ¥ 3 N N = 5 Fuaps

7) Mr. Kelly takes %0 th of the score off of any Unit test that is taken late. If a student who takes a test late received a final grade of
72, what score would the student have received if the test was on time? q T = ?‘z 0

| =— =
T ~ o - q—l Answer: T = %

Equation: 1D
LeT T Beoninl Tour Grende ' o "EQT GrRAbE = 20

8) The length of a rectangle is 7cm more than the width. Find the length of ich side of the rectangle if the perimeter is 58 cm.

Equiiond W 28 +2(w +3)=5p WwoTk =1
2wx 1wty =258
wW+3 h+ 14=5% Levevn= 18

= 4y
Let W= WO oF Ry L'”w N

Answer:
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